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NDA PREMIUM MOCK TEST ( GENERAL ABILITY TEST)
C; Replace 'gone' with 'go'
A; 'Remove 'does not'
A; Replace 'were' with 'had been'
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; Write 'ever since'
; Replace 'fairly’ with 'rather'
; Write 'directly’ in place of 'direct’
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(c) Light
year is the
unit of
distance. It
used for
expressing
astronomic
al
distances.
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NDA PREMIUM MOCK TEST ( GENERAL ABILITY TEST)
C; Velocity = (il_)t{ =18 +18t. It depends upon time. For t = wx, the velocity = 18 + 18 x 2

ms ' =54 ms .

G

G

C; Centripetal force = MR o’ . It is directly proportional to R. If R is doubled, the
centripetal force is also doubled.

D; For satellite KE = — Total energy = %P.E. when so in this case kinetic energy is

doubled and the body acquires escape velocity.

D;

A; Stefan's constant 6 =5.67x10°*Wm K™
E=0T"=5.67x10"x(1000)*Jmcm™

B; The time period of oscillation of a mass attached to the spring is independent of gravity.

B; Density of lines of force is proportional to E.

B;

C; Energy dissipated = Power % time = 1000 W X Th=1k W h.

A; Energy stored in an inductor = %le = %x 50x107° x (4)2 =0.4]J.

C;

B; Forces are mutually perpendicular, with resultant nearly 36 N.
D;
D; Work energy theorem is always applicable.

C; Radius of the earth = 6400km. Distance of geostationary satellite = 42000km .
B;

B;
B; C, = e
C +C,
A; For angle of incidence more than 30°, total internal reflection will occur.
. : i, 2R’ :
A; Refer to explanation for Q. 3. At far away point B = . Hence, when R is
T X

doubled, B becomes four times.
2
B; Q= V?t . When V decreases, Q also decreases.

A; In such a case impedance = resistance.

“

_La

; & X .Here§:2V,dI=1Aanddt=10*3s.HenceL=2mH.
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NDA PREMIUM MOCK TEST ( GENERAL ABILITY TEST)
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NDA PREMIUM MOCK TEST ( GENERAL ABILITY TEST)
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